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QUESTION 1

A(n) _______________ is an unintended communication path that can be used to violate a system security policy. 

A. Covert channel 

B. Integrity axiom 

C. Simple rule violation 

D. Inferred fact 

E. Aggregated data set 

Correct Answer: A 

 

QUESTION 2

Which type of access management allows subjects to control some access of objects for other subjects? 

A. Discretionary 

B. Hybrid 

C. Mandatory 

D. Role-based 

E. Nondiscretionary 

Correct Answer: A 

 

QUESTION 3

Which of the following statements about the maintenance and review of information security policies is NOT true? 

A. The review and maintenance of security policies should be tied to the performance evaluations of accountable
individuals. 

B. Review requirements should be included in the security policies themselves. 

C. When business requirements change, security policies should be reviewed to confirm that policies reflect the new
business requirements. 

D. Functional users and information custodians are ultimately responsible for the accuracy and relevance of information
security policies. 

E. In the absence of changes to business requirements and processes, information-security policy reviews should be
annual. 

Correct Answer: D 
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QUESTION 4

Why should user populations be segmented? 

A. To allow resources to be shared among employees 

B. To allow appropriate collaboration, and prevent inappropriate resource sharing 

C. To prevent appropriate collaboration 

D. To provide authentication services 

E. To prevent the generation of audit trails from gateway devices 

Correct Answer: B 

 

QUESTION 5

____________________ are the people who consume, manipulate, and produce information assets. 

A. Information asset owners 

B. Business-unit owners 

C. Audit-control groups 

D. Information custodians 

E. Functional users 

Correct Answer: E 

156-110 PDF Dumps 156-110 Practice Test 156-110 Study Guide

Powered by TCPDF (www.tcpdf.org)

156-110 PDF Dumps | 156-110 Practice Test | 156-110 Study Guide                                3 / 3

https://www.pass4itsure.com/156-110.html
https://www.pass4itsure.com/156-110.html
https://www.pass4itsure.com/156-110.html
http://www.tcpdf.org
https://www.pass4itsure.com/156-110.html
https://www.pass4itsure.com/156-110.html
https://www.pass4itsure.com/156-110.html

